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Figure 8-2. Timer Control Register (TCR) Diagram
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The timer interrupt (TINT) rate is equal to the CPU clock frequency divided by
two independent factors:

o — 1 _ |
TINT rate = = Uxv ~ T x (TDDR + 1) X (PRD + 1)

In the equation, tgc) is the period of CPU clock, uis the sum of the TDDR con-
tents plus 1, and v is the sum of the PRD contents plus 1.
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vik]= Ay[k —1]+ Bylk —2]+ Cx[k —1]

UX(kDN AL AR T, BOERIaE %A1 N0
yI0]= Ay[-1]+ By[ 2]+ Cx[-1] =0
vl = Ay[0]+ By[-1]+ Cx[0] = C
y[2]= Ay[l]+ By[0]+ Cx[1] = Ay[1]

yI31= Ay[2]+ By[l]
M

yln|=Ay[n—1]+By[n-2]
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ORM #0C10h, TCR
:Soft=1,Free=1,TSS=1

STM #PERIOD-1, PRD

ANDM #0010h, TCR :TDDR=0
ORM #0020h, TCR :TRB=1
STM  #OFFFFh, IFR ERRFTE il
ORM #8h, IMR F TP B T
RSBX INTM » FF o b
ANDM #OFFEFh, TCR 'TSS=0, 33
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.word 079BCh
.word 04B3Ch
.set 0678Eh
.set 0C000h

b T AL E y = Y1*CB+Y2*CA

MPY Y1, #CB, A A = Y1*CB

LTD Y2,Y1 T=Y2, Y25 #]3Y1
MAC #CA, A ‘A = A + T*CA
STH A 1,Y2 Y2 = A*2
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